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	 9.	 If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi versions 
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PART – I 
( Language )

Directions (Q. Nos. E-1 – E-5) : Read the 
passage given below and on the basis of the 
passage, answer the questions that follow. 

	People are always communicating, verbally 
and non-verbally. Research shows that only 
seven percent of communication is through 
words. The rest of the communication 
process takes place through body language, 
eye contact and the various signals 
words cannot convey. A person should be 
sensitive enough to understand as to how 
the communication is being received and 
processed. All communication should be 
sensitive to eye movement, posture and 
gesture, skin colour, breathing rate and facial 
expression to be understood completely.  

	E-1.	 Words communicate just _______  
per cent. 

	 (A)	 seventy 
	 (B)	 seven 
	 (C)	 hundred 
	 (D)	 More than one of the above 
	 (E)	 None of the above

	E-2.	 These are some nouns from the 
passage 

	 (A)	 body, person 
	 (B)	 should, through 
	 (C)	 being, how 
	 (D)	 More than one of the above 
	 (E)	 None of the above

	E-3.	 Communication must include
	 (A)	 eye movement 
	 (B)	 breathing rate
	 (C)	 body language 
	 (D)	 More than one of the above 
	 (E)	 None of the above

	E-4.	 Which are the two kinds of 
communication ? 

	 (A)	 Verbal and non-verbal 
	 (B)	 Posture and gesture 
	 (C)	 Spoken and written 
	 (D)	 More than one of the above 
	 (E)	 None of the above 

	E-5.	 The passage is about 
	 (A)	 Disadvantages of words
	 (B)	 Nature of communication 
	 (C)	 Communication failure 
	 (D)	 More than one of the above 
	 (E)	 None of the above

Directions (Q. Nos. E-6 – E-8) : Fill in the 
blanks.

	E-6.	 Had we ___________ punctual, we 
would have ________ the train. 

	 (A)	 been, caught 
	 (B)	 were, boarded 
	 (C)	 are, got 
	 (D)	 More than one of the above 
	 (E)	 None of the above

	E-7.	 You can’t ________ with other people. 
	 (A)	 arguing 
	 (B)	 shouted 
	 (C)	 quarreling 
	 (D)	 More than one of the above 
	 (E)	 None of the above

	E-8.	 Since she is a _________, she has to 
talk a lot. 

	 (A)	 jockey 
	 (B)	 cook 
	 (C)	 radio jockey 
	 (D)	 More than one of the above 
	 (E)	 None of the above
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		 {ZX}e (à. g§. H-9 go H-14 VH$) : Bg I§S> _| ZrMo 

{XE JE JÚm§e go gå~pÝYV àíZ {XE JE h¢ & ghr 

{dH$ën MwZH$a CÎma nÌH$ _| A§{H$V H$s{O`o & 

	 amîQ´> Ho$ gdmªJrU {dH$mg Ho$ {bE M[aÌ {Z_m©U na_ 

Amdí`H$ h¡ & {Og àH$ma dV©_mZ _| ^m¡{VH$ {Z_m©U 

H$m H$m`© AZoH$ `moOZmAm| Ho$ _mÜ`_ go Vrd« J{V Ho$ 

gmW g§nÝZ hmo ahm h¡, d¡go hr dV©_mZ H$s g~go ~‹S>r 

Amdí`H$Vm `h h¡ {H$ Xoedm{g`m| Ho$ M[aÌ {Z_m©U Ho$ 

{bE ^r à`ËZ {H$`m OmE & CÎm_ M[aÌdmZ ì`pŠV 

hr amîQ´> H$s gdm}ÀM g§nXm h¡ & OZV§Ì Ho$ {bE Omo 

`h EH$ _hmZ H$ë`mUH$mar `moOZm h¡ & OZ-g_mO _| 

amîQ´>, g§ñH¥${V, g_mO Ed§ n[adma Ho$ à{V h_mam Š`m 

H$V©ì` h¡ BgH$m nyU© ê$n go ~moY H$amZm Ed§ amîQ´> _| 

ì`mßV g_J« ^«îQ>mMma Ho$ à{V {ZfoYmË_H$ dmVmdaU H$m 

{Z_m©U H$aZm hr M[aÌ {Z_m©U H$m àW_ gmonmZ h¡ & 

	 nmümË` {ejm Am¡a g§ñH¥${V Ho$ à^md go AmO h_mao 

_pñVîH$ _| ^maVr`Vm Ho$ à{V hrZ ^mdZm CËnÝZ hmo 

 
( Hindi Language )

JB© h¡ & M[aÌ {Z_m©U, Omo {H$ ~më`mdñWm ì`dñWm go 

hr F${fHw$b, JwéHw$b, AmMm`©Hw$b H$s {ejm Ho$ Ûmam 

àmMrZ g_` go {H$`m OmVm Wm, AmO H$s bmS>© _¡H$mbo 

H$s {ejm nÕ{V go g§Mm{bV ñHy$bm| Ed§ H$m°boOm| Ho$ 

{bE EH$ hmñ`mñnX {df` ~Z J`m h¡ & AmO `{X 

H$moB© nwamVZ g§ñH$mar {dÚmWu g§Ü`md§XZ `m {eIm-gyÌ 

aIH$a ^maVr` g§ñH¥${V_` _| OrdZ {~VmVm h¡, Vmo 

AÝ` N>mÌ Cgo "~wÕ' `m AàJ{Verb H$hH$a CgH$m 

_OmH$ C‹S>mVo h¢ & AmO h_ AnZo ^maVr` AmXem] H$m 

n[aË`mJ H$aHo$ n{ü_ Ho$ A§YmZwH$aU H$mo àJ{V _mZ 

~¡R>o h¢ & BgH$m KmVH$ n[aUm_ M[aÌ Xmof Ho$ ê$n _| 

AmO Xoe _| gd©Ì ÑpîQ>JmoMa hmo ahm h¡ &  

	H-9.	 OZV§Ì Ho$ {bE bm^H$mar hmo gH$Vo h¢ 

	 (A)	 {ZîR>mdmZ l{_H$ 

	 (B)	 epŠVembr {gnmhr 

	 (C)	 CÎm_ M[aÌdmZ ì`pŠV 

	 (D)	 YZdmZ ì`pŠV 

	 (E)	 Cn`©wŠV _| go H$moB© Zht



10/PV–AC/M–2024/E	 4	

	H-10.	 amîQ´> H$s gdm}ÀM g§nXm h¡ 

	 (A)	 ñdmWu ì`pŠV 

	 (B)	 bmS>© _¡H$mbo H$s {ejm nÕ{V

	 (C)	 nmümË` g§ñH¥${V

	 (D)	 M[aÌdmZ ì`pŠV 

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-11.	 AàJ{Verb ê$n _| _OmH$ C‹S>m`m OmVm h¡, Omo 

	 (A)	 nmümË` g§ñH¥${V H$mo öX` go AnZmVm h¡ 

	 (B)	 ^maVr` g§ñH¥${V_` OrdZ {~VmVm h¡  

	 (C)	 Ym{_©H$ dmVmdaU _| OrdZ {~VmVm h¡

	 (D)	 gËg§J _| A{YH$ g_` Zht {~VmVm h¡

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-12.	 M[aÌ {Z_m©U H$s na_ Amdí`H$Vm h¡ 

	 (A)	 g_mOmon`moJr H$m`m] Ho$ {bE 

	 (B)	 _mZd_mÌ Ho$ H$ë`mU Ho$ {bE 

	 (C)	 amîQ´> H$s `moOZmAm| Ho$ g§MmbZ Ho$ {bE 

	 (D)	 amîQ´> Ho$ gdmªJrU {dH$mg Ho$ {bE 

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-13.	 CÝZV amîQ´> Ho$ {bE {dH$mg H$m àW_ gmonmZ h¡ 

	 (A)	 ^«îQ>mMma Ho$ à{V {ZfoYmË_H$ dmVmdaU 

	 (B)	 M[aÌ {Z_m©U Ho$ e¡j{UH$ dmVmdaU 

	 (C)	 amOZr{V Ho$ Hw$eb Xm±d-n|M 

	 (D)	 OZVm _| gmåàXm{`H$ gX²^md 

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-14.	 ^maVr`Vm Ho$ à{V hrZ ^mdZm H$m H$maU h¡ 

	 (A)	 nwamVZ g§ñH$mar g§ñH¥${V_` OrdZ 

	 (B)	 dV©_mZ d¡km{ZH$ {ejm nÕ{V

	 (C)	 àmMrZ JwéHw$b H$s {ejm nÕ{V 

	 (D)	 bmS>© _¡H$mbo H$s {ejm nÕ{V 

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	{ZX}e (à. g§. H-15 go H-20 VH$) : Bg I§S> _| ZrMo 

{XE JE JÚm§e go gå~pÝYV àíZ {XE JE h¢ & ghr 

{dH$ën MwZH$a CÎma nÌH$ _| A§{H$V H$s{O`o & 

	{dH$mg H«$_ _| newVm h_mam OÝ_{gÕ A{YH$ma h¡ Am¡a  

_Zwî`Vm h_mao ẁJ- ẁJm§Va Ho$ AZdaV AÜ`dgm` go 

A{O©V A_yë` {Z{Y & Bgr go h_ AnZo nyd© ñdßZ Ho$ {bE,  

gm_§Oñ`nyU© AmXe© Ho$ {bE Am¡a CXmÎm ^mdZmAm| Ho$ {bE 

àmU H$s ~mOr bJmVo aho h¢ & O~ h_ go Eogm H$aZo H$s epŠV 

eof Zht ah OmVr V~ h_ EH$ {_Ï`m Xå^ Ho$ gmW newVm 
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H$s Amoa bm¡Q> MbVo h¢ Š`m|{H$ dhm± nhþ±MZo Ho$ {bE Z {H$gr 

namH«$_ H$s Amdí`H$Vm h¡ Am¡a Z gmYZ H$s & h_ AnZo eara 

H$mo {ZüoîQ> N>mo‹S>H$a {h_mb` Ho$ {eIa go nmVmb H$s JhamB© 

VH$ ghO hr bw‹T>H$Vo Mbo Am gH$Vo h¢ & na§Vw Cgo D§$MmB© 

Ho$ ghò A§emo VH$ nhþ±MZo _| h_mao nm±d H$m±nZo bJ|Jo, gm±g  

\y$bZo bJoJr Am¡a Am±Im| Ho$ gm_Zo A§Yoam N>m OmEJm & 

	H-15.	 _Zwî` newVm H$s Amoa H$~ bm¡Q>Vm h¡ ? 

	 (A)	 O~ dh _Zwî`Vm H$m AmXe© ^yb OmVm h¡ 

	 (B)	 O~ ~g ñdßZ XoIZm ~§X H$a XoVm h¡ 

	 (C)	 O~ dh OrdZ _| gm_§Oñ` H$s ñWmnZm Ho$ 

{bE à`mg N>mo‹S> XoVm h¡ 

	 (D)	 O~ dh {_Ï`m Xå^ go ^a OmVm h¡

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-16.	 _Zwî` {_Ï`m Xå^ Ho$ gmW newVm H$s Amoa bm¡Q> 

MbVo h¢ 

	 (A)	 O~ g¥OZmË_H$ H$m`© H$aZo H$s epŠV Zht 

ahVr 

	 (B)	 O~ D$Om© g{H«$` hmo

	 (C)	 O~ H$moB© namH«$_r hmo 

	 (D)	 O~ ñdmW© d¥{V hmo

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-17.	 nyao AdVaU H$m gmam§e h¡ {H$ 

	 (A)	 _Zwî`, newVm go ~‹T>H$a h¡ 

	 (B)	 _Zwî`> H$mo Mm{hE {H$ dh newVm Ho$ nrN>o 

N>mo‹S>H$a _Zwî`Vm Ho$ {bE à`mg H$a| 

	 (C)	 AdZ{V H$s Amoa OmZm CÝZ{V H$s Amoa OmZo 

go AmgmZ h¡ 

	 (D)	 _Zwî`Vm, _Zwî` H$s gVV gmYZm H$m àVrH$ h¡

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-18.	 àmaå^ _| _w{ÐV A§e H$m Ame` h¡ {H$ 

	 (A)	 _Zwî`Vm _Zwî` H$s A_yë` {Z{Y h¡ 

	 (B)	 {dH$mg H«$_ H$m ZVrOm h¡ {H$ h_ new go 

_Zwî` ~Z JE 

	 (C)	 OÝ_ go new Am¡a _Zwî` _| H$moB© A§Va Zht h¡

	 (D)	 `wJm§Va H$s gmYZm go _Zwî` newVm go D$na 

CR>H$a _Zwî`Vm Ho$ JwU àmßV H$a gH$Vm h¡ 

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-19.	 A§{V_ dmŠ` _| Omo _w{ÐV h¡, boIH$ H$hZm 

MmhVm h¡ {H$ 

	 (A)	 _Zwî`Vm H$m AOw©Z {h_mb` na M‹T>Zo O¡gm 

H${R>Z h¡ 

	 (B)	 _Zwî`Vm go n{VV hmoZm nmVmb _| {JaZo O¡gm 

AmgmZ h¡ 

	 (C)	 _Zwî`Vm àmßV H$aZo _| _Zwî` Ho$ n¡a H$m±nZo 

bJVo h¢ 

	 (D)	 _Zwî` H$s Am±Im| Ho$ AmJo A§Yoam N>m OmVm h¡

	 (E)	 Cn`©wŠV _| go H$moB© Zht
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	H-20.	 AdVaU H$m Cn`w©ŠV erf©H$ hmoJm 

	 (A)	 _Zwî`Vm H$s àmpßV 

	 (B)	 _mZd OrdZ H$m bú` 

	 (C)	 _Zwî` H$m OÝ_{gÕ A{YH$ma 

	 (D)	 newVm ~Zm_ _Zwî`Vm

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-21.	 ""J§Jm JE J§JmXmg, O_wZm JE O_wZmXmg'' 

bmoH$mopŠV H$m ghr AW© h¡

	 (A)	 AmXe©dmXr 

	 (B)	 M[aÌ hrZ 

	 (C)	 `WmW©dmXr 

	 (D)	 {gÕmÝV hrZ

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-22.	 "AnZmZm' {H«$`m {H$g gd©Zm_ go ~Zr h¡ ? 

	 (A)	 g§km go 

	 (B)	 {deofU go

	 (C)	 {H«$`m go

	 (D)	 gd©Zm_ go 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

H-23.	 "a' H$m {ddaU h¡ 

	 (A)	 dËñ`©, bw§{R>V, gKmof, AënàmU ì`§OZ 

	 (B)	 nmpíd©H$, gKmof, ñne©, AënàmU ì`§OZ

	 (C)	 dËñ`©, bw§{R>V, AKmof, _hmàmU ì`§OZ 

	 (D)	 dËñ`©, g§Kfu, AKmof, _hmàmU ì`§OZ

	 (E)	 Cn`©wŠV _| go H$moB© Zht

H-24.	 gmYmaU dmŠ` H$mo {_{lV dmŠ` _| ~X{bE &

		  ""grVm H$mo XoIVo hr _wPo arVm H$s `mX Am OmVr 

h¡ &'' 

	 (A)	 O~ _¢ grVm H$s Amoa XoIVm hÿ± V~ _wPo arVm 

H$s `mX Am OmVr h¡ &

	 (B)	 O~ grVm H$s Amoa XoIVm hÿ± V~ _wPo arVm 

Š`m| `mX AmVr h¡ ?

	 (C)	 O~ _¢ grVm H$s Amoa XoIVm hÿ± V~ _wPo arVm 

{XImB© XoVr h¡ &

	 (D)	 _¢ grVm H$s Amoa XoIVm hÿ± Am¡a _wPo arVm H$s 

`mX Am OmVr h¡ &

	 (E)	 Cn`©wŠV _| go H$moB© Zht



10/PV–AC/M–2024/E	 7	 [ P.T.O.

H-25.	 à`ËZ Ho$ AmYma na "b' {H$g àH$ma H$s  

Üd{Z h¡ ?

	 (A)	 nmpíd©H$ 

	 (B)	 g§Kf©erb

	 (C)	 CpËjßV

	 (D)	 àH§${nV

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-26.	 "{ZamH$ma' _| CngJ© h¡ 

	 (A)	 {Za²

	 (B)	 {Z

	 (C)	 {Zam

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

H-27.	 ""H$~ra dmUr Ho$ {S>ŠQ>oQ>a Wo'' Bg dmŠ` _| 

{H$g {dam_ {MÝh H$m à`moJ hþAm h¡ ? 

	 (A)	 Aën {dam_

	 (B)	 nwZépŠV gyMH$  

	 (C)	 CÕaU {MÝh

	 (D)	 bmKd {MÝh

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-28.	 ""_¢Zo Am_ bo {b`m h¡ &'' H$m ~hþdMZ Š`m 

hmoJm ?

	 (A)	 h_Zo Am_ bo {b`o h¢ &

	 (B)	 _¢Zo Am_ {bE h¡ &

	 (C)	 _¢Zo Am_ bo {b`o h¡ &

	 (D)	 h_Zo Am_ bo {b`o &

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-29.	 N>ÝX n‹T>Vo g_` AmZo dmbo {dam_ H$mo Š`m  

H$hVo h¢ ? 

	 (A)	 J{V 

	 (B)	 b`

	 (C)	 JU 

	 (D)	 `{V

	 (E)	 Cn`©wŠV _| go H$moB© Zht

	H-30.	 {Og g_mg _| XmoZm| nX àYmZ hmoVm h¡, Cgo Š`m 

H$hVo h¢ ? 

	 (A)	 ÛÝÛ g_mg 

	 (B)	 ~hþd«r{h g_mg 

	 (C)	 Aì``r g_mg 

	 (D)	 {ÛJw g_mg

	 (E)	 Cn`©wŠV _| go H$moB© Zht
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( Urdu Language )
				  

	 	 .U-9

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-10

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-11

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-12

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-13

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-14

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)
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	 	 .U-15

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-16

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-17

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-18

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)	

	 	 .U-19

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-20

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)
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	 	 .U-21

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-22

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-23

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-24

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-25

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)
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	 	 .U-26

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-27

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-28

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-29

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)

	 	 .U-30

	 	 (A)	

	 	 (B)	

	 	 (C)	

	 	 (D)	

	 	 (E)
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( Bengali Language )

	    

  

  

	B-9.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-10.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-11.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-12.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-13.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-14.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-15.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 	

	B-16.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 	

	B-17.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 	

	B-18.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-19.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 	

	B-20.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 	

B-21.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

B-22.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-23.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-24.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

z
z
z
z
z
z

zzzzzzzzzzzzzzz

zzzzzzzzzzzzzzzz
z
z
z
z
z

      E
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B-25.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 	

	B-26.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

B-27.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-28.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-29.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

B-30.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

z
z
z
z
z
z

zzzzzzzzzzzzzzz

zzzzzzzzzzzzzzzz
z
z
z
z
z

      E
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	 31.	 What are the last signs of the 
activities of a volcano ?

	 (A)	 Geysers

	 (B)	 Craters

	 (C)	 Famaroles

	 (D)	 More than one of the above

	 (E)	 None of the above

	 32.	 The electric fuse works on the 

	 (A)	 Chemical effect of current

	 (B)	 Magnetic effect of current

	 (C)	 Heating effect of current

	 (D)	 More than one of the above

	 (E)	 None of the above

	 33.	 Who was the militant peasant leader 
of Bihar ?

	 (A)	 Raj Kumar Shukla

	 (B)	 Swami Sahajanand Saraswati

	 (C)	 Rajendra Prasad

	 (D)	 More than one of the above

	 (E)	 None of the above

	 34.	 By selling 39 dozens of mangoes, a 
vendor earns a profit equal to the sale 
proceeds of 13 dozens of mangoes. 
What is the percentage of his profit ?

	 (A)	 33%

	 (B)	 50%

	 (C)	 26%

	 (D)	 More than one of the above

	 (E)	 None of the above

	 35.	 Who resisted the new system of 
taxation against the exploitative 
forces ?

	 (A)	 Tribes of Khandesh in 1856

	 (B)	 Santhals of Bihar in 1855-56

	 (C)	 Tribes of Chotanagpur in 1850

	 (D)	 More than one of the above

	 (E)	 None of the above

	 36.	 Which of the following is warm 
blooded animal ?

	 (A)	 Toad
	 (B)	 Crocodile
	 (C)	 Fish
	 (D)	 More than one of the above
	 (E)	 None of the above

	 37.	 Bankim Chandra Chatterjee’s novel, 
‘Anandmath’ was published in

	 (A)	 1881

	 (B)	 1882

	 (C)	 1880

	 (D)	 More than one of the above

	 (E)	 None of the above

	 38.	 Dry ice is

	 (A)	 Solid nitrogen

	 (B)	 Solid oxygen

	 (C)	 Solid carbon dioxide

	 (D)	 More than one of the above

	 (E)	 None of the above

PART – II 
( General Studies )
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PART – II 
( General Studies )

	 31.	 Ádmbm_wIr {H«$`m H$s A§{V_ àVrH$ Š`m h¢ ?

	 (A)	 Joga

	 (B)	 H«o$Q>a

	 (C)	 Yw±Amao (dm{V_wI)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 32.	 EH$ {dÚwV â ỳO {H$g à^md na H$m ©̀ H$aVm h¡ ?

	 (A)	 {dÚwV Ymam H$m amgm`{ZH$ à^md

	 (B)	 {dÚwV Ymam H$m Mwå~H$s` à^md

	 (C)	 {dÚwV Ymam H$m Vmnr` à^md

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 33.	 {~hma H$m CJ« H¥$fH$ ZoVm H$m¡Z Wm ?

	 (A)	 amO Hw$_ma ewŠbm

	 (B)	 ñdm_r ghOmZÝX gañdVr

	 (C)	 amOoÝÐ àgmX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 34.	 39 XO©Z Am_ ~oMZo na EH$ {dH«o$Vm H$mo 13 XO©Z 
Am_ Ho$ {dH«$` _yë` Ho$ ~am~a bm^ hmoVm h¡ & 
CgHo$ bm^ H$s à{VeVVm Š`m h¡ ?

	 (A)	 33%

	 (B)	 50%

	 (C)	 26%

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 35.	 {H$gZo H$a H$s ZB© ì`dñWm Ho$ {déÕ emofUH$mar  
epŠV`m| H$m {damoY {H$`m ?

	 (A)	 1856 _| ImZXoe H$s OZOm{V`m| Zo

	 (B)	 1855-56 _| {~hma Ho$ g§Wm{b`m| Zo

	 (C)	 1850 _| N>moQ>mZmJnwa H$s OZOm{V`m| Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 36.	 {ZåZ{b{IV _| go H$m¡Z-gm J_© IyZ H$m  
àmUr h¡ ?

	 (A)	 XmXþa (Q>moS>)
	 (B)	 _Ja_ÀN>
	 (C)	 _N>br
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 37.	 ~§{H$_ MÝÐ MQ>Ou Ho$ CnÝ`mg, "AmZÝX_R>' 
àH$m{eV {H$`m J`m Wm

	 (A)	 1881 _|

	 (B)	 1882 _|

	 (C)	 1880 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 38.	 gyIr ~\©$ h¡

	 (A)	 R>mog ZmBQ´>moOZ

	 (B)	 R>mog Am°ŠgrOZ

	 (C)	 R>mog H$m~©Z S>mB©Am°ŠgmBS>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 39.	 In National Park protection is given to

	 (A)	 Only Fauna

	 (B)	 The whole ecosystem

	 (C)	 Only Flora

	 (D)	 More than one of the above

	 (E)	 None of the above

	 40.	 Which film received the most awards 
in the Golden Globes 2024 held in  
Los Angeles ?

	 (A)	 The Flower Moon

	 (B)	 The Holdovers

	 (C)	 Oppenheimer

	 (D)	 More than one of the above

	 (E)	 None of the above

	 41.	 Some facts about Ozone (O3) are 

	 (A)	 It absorbs high wavelength 
radiation

	 (B)	 It is most stable gas of the 
atmosphere

	 (C)	 It is found in mesosphere

	 (D)	 More than one of the above

	 (E)	 None of the above

	 42.	 Which is the major component of 
biogas ?

	 (A)	 Hydrogen sulphide

	 (B)	 Methane

	 (C)	 Hydrogen

	 (D)	 More than one of the above

	 (E)	 None of the above

	 43.	 The Indian Standard Time (IST) 

remains how much ahead from 

Greenwich Mean Time (GMT) ?

	 (A)	 05½ hours

	 (B)	 06 hours

	 (C)	 05 hours

	 (D)	 More than one of the above

	 (E)	 None of the above

	 44.	 In which forest do the majority 

of species of birds inhabit the 

mountainous areas ?

	 (A)	 Pine forest

	 (B)	 Bush forest

	 (C)	 Oak forest

	 (D)	 More than one of the above

	 (E)	 None of the above

	 45.	 Earth day is celebrated on every  

22nd April related with

	 (A)	 End of the Second World War day

	 (B)	 Declaration of no use of nuclear 

weapons on earth planet

	 (C)	 Public awareness about 

environment issues

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 39.	 amîQ´>r` CÚmZ _| gwajm Xr OmVr h¡

	 (A)	 Ho$db OÝVwOmV H$mo

	 (B)	 gånyU© nm[apñW{VH$ V§Ì H$mo

	 (C)	 Ho$db nmXnOmV H$mo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 40.	 bm°g E§Oo{bg _| Am`mo{OV JmoëS>Z ½bmoãg 2024 

_| gdm©{YH$ AdmS>© {H$g {\$ë_ H$mo {_bm ?

	 (A)	 X âbm°da _yZ

	 (B)	 X hmoëS>modg©

	 (C)	 AmonoZhmB_a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 41.	 AmoOmoZ (O3) Ho$ ~mao _| Hw$N> VÏ` h¢ 

	 (A)	 `h CÀM Va§JX¡¿`© H$s {d{H$aUm| H$mo 
Ademo{fV H$aVr h¡

	 (B)	 `h dm`w_ÊS>b H$s AË`{YH$ ñWmB© J¡g h¡

	 (C)	 `h _Ü`_ÊS>b _| nmB© OmVr h¡

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 42.	 ~m`moJ¡g H$m à_wI KQ>H$ H$m¡Z-gm h¡ ?

	 (A)	 hmBS´>moOZ gë\$mBS>

	 (B)	 {_WoZ

	 (C)	 hmBS´>moOZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 43.	 J«rZ{dM _mÜ` g_` (Or.E_.Q>r.) go ̂ maVr` _mZH$ 

g_` (AmB©.Eg.Q>r.) {H$VZm AmJo ahVm h¡ ?

	 (A)	 05½ K§Q>o

	 (B)	 06 K§Q>o

	 (C)	 05 K§Q>o

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 44.	 nd©Vr` joÌm| _| n{j`m| Ho$ A{YH$m{YH$ àOm{V`m± 

{H$g O§Jb _| {Zdmg H$aVr h¡ ?

	 (A)	 Mr‹S> Ho$ O§Jb

	 (B)	 Pm{‹S>`m| Ho$ O§Jb

	 (C)	 ~m±O Ho$ O§Jb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 45.	 22 Aà¡b H$mo _ZmEo OmZo dmbo n¥Ïdr {Xdg H$m 

gå~ÝY h¡

	 (A)	 {ÛVr` {díd `wÕ H$m AÝV {Xdg

	 (B)	 n¥Ïdr J«h na Zm{^H$s` h{W`mam| Ho$ Cn`moJ 

na à{V~§Y

	 (C)	 dmVmdaU go gå~pÝYV OZOmJê$H$Vm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 46.	 Which one of the following 

earthquakes is very severe and 

disastrous ?

	 (A)	 Volcanic earthquake

	 (B)	 Tectonic earthquake

	 (C)	 Plutonic earthquake

	 (D)	 More than one of the above

	 (E)	 None of the above

	 47.	 At the time of the First Round Table 

Conference, the Governor-General of 

India was

	 (A)	 Lord Reading

	 (B)	 Lord Linlithgow

	 (C)	 Lord Irwin

	 (D)	 More than one of the above

	 (E)	 None of the above

	 48.	 Find the smallest number of five 

digits which when divided by 15, 30, 

38, 40 respectively always leaves 2 

as remainder.

	 (A)	 11398

	 (B)	 11402

	 (C)	 2282

	 (D)	 More than one of the above

	 (E)	 None of the above

	 49.	 The silent valley is located in the 
State of 

	 (A)	 Kerala

	 (B)	 Madhya Pradesh

	 (C)	 Chhattisgarh

	 (D)	 More than one of the above

	 (E)	 None of the above

	 50.	 Pollutants responsible for acid rains 
are

	 (A)	 CO2

	 (B)	 Water vapours

	 (C)	 SO2

	 (D)	 More than one of the above

	 (E)	 None of the above

	 51.	 What is true for phylum 
echinodermata ?

	 (A)	 They are triploblastic and have 
coelomic cavity.

	 (B)	 They have a peculiar water driven 
tube system.

	 (C)	 They are exclusively free living 
marine animals.

	 (D)	 More than one of the above
	 (E)	 None of the above

	 52.	 Which of the following is the source 
of renewable energy ?

	 (A)	 Coal

	 (B)	 Nuclear fuel

	 (C)	 Petroleum

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 46.	 {ZåZ _| go H$m¡Z-gm EH$ ^yH$ån Jå^ra Am¡a 

{dÜd§gH$mar h¡ ?

	 (A)	 Ádmbm_wIr` ^yH$ån

	 (B)	 ^«§e_ybH$ ^yH$ån

	 (C)	 ßbyQ>m°{ZH$ ^yH$ån

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 47.	 àW_ Jmob _oO gå_obZ Ho$ g_` ^maV H$m 

JdZ©a-OZab Wm

	 (A)	 bmS>© arqS>J

	 (B)	 bmS>© {bZ{bWJmo

	 (C)	 bmS>© Ba{dZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 48.	 nm±M A§H$m| H$s N>moQ>r go N>moQ>r g§»`m kmV 

H$s{OE {OgH$mo H«$_e: 15, 30, 38, 40 go 

{d^m{OV H$aZo na gX¡d 2 eof ~MVm h¡ &

	 (A)	 11398

	 (B)	 11402

	 (C)	 2282

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 49.	 emÝV KmQ>r (gmBb|Q> d¡br) {H$g amÁ` _| pñWV h¡ ?

	 (A)	 Ho$ab

	 (B)	 _Ü` àXoe

	 (C)	 N>ÎmrgJ‹T>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 50.	 Aåbr` dfm© Ho$ {bE àXÿfH$ h¢

	 (A)	 CO2

	 (B)	 Ob dmîn

	 (C)	 SO2

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 51.	 g§K BH$mBZmoS>_}Q>m Ho$ {bE Š`m gË` h¡ ?

	 (A)	 `h {ÌñVar` h¢ Am¡a BZ_| grbmo{_H$ Jwhm  
hmoVr h¡ &

	 (B)	 BZ_| {d{eîQ> Ob g§dhZ Zmb VÝÌ hmoVm h¡ & 

	 (C)	 `h {deof ê$n go _wŠV Ordr g_wÐr  
OÝVw h¢ &

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 52.	 {ZåZ _| go H$m¡Z-gm ZdrH$aUr` D$Om© H$m  
òmoV h¡ ?

	 (A)	 H$mo`bm

	 (B)	 Zm{^H$s` BªYZ

	 (C)	 noQ´>mo{b`_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 53.	 Who among the following was the 
members of the State Re-organisation 
Commission (SRC) in 1953 ?

	 (A)	 K. M. Panikkar

	 (B)	 Hriday Nath Kunzru

	 (C)	 Fazal Ali

	 (D)	 More than one of the above

	 (E)	 None of the above

	 54.	 Which of the following is not an 
endocrine gland ?

	 (A)	 Thyroid

	 (B)	 Pituitary

	 (C)	 Lacrimal

	 (D)	 More than one of the above

	 (E)	 None of the above

	 55.	 Choose the odd one from the 
following.

	 (A)	 Mumbai

	 (B)	 Saharanpur

	 (C)	 Kolkata

	 (D)	 More than one of the above

	 (E)	 None of the above

	 56.	 N is the brother of M. K is sister of M. 
P is the brother of O and O is daughter 
of N. Who is the uncle of P ?

	 (A)	 M

	 (B)	 K

	 (C)	 N

	 (D)	 More than one of the above

	 (E)	 None of the above

	 57.	 Which of the following facts are 
mentioned in the decision of the 
Supreme Court regarding Bilkis Bano ?

	 1.	 Bilkis Bano challenges premature 
release of convicts in Supreme 
Court on 30 November 2022.

	 2.	 On 23 April 2019, the Supreme 
Court granted compensation of 
Rs. 50 lakh to Bilkis Bano from 
the Gujarat Government.

	 3.	 On 8 January 2024, the Supreme 
Court canceled the order regarding 
premature release of 11 convicts.

	 4.	 Justice B.V. Nagarathna and 
Justice Ujjal Bhuiyan gave the 
decision.

	 (A)	 Only 2

	 (B)	 Only 3

	 (C)	 Only 1

	 (D)	 More than one of the above

	 (E)	 None of the above

	 58.	 INSAT-3DS launched from  
Sriharikota on 18 February 2024 will 
be used

	 (A)	 For telecommunication

	 (B)	 For information about military 
activities of neighboring 
countries

	 (C)	 In the field of meteorology

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 53.	 {ZåZ _| go H$m¡Z 1953 _| amÁ` nwZJ©R>Z Am`moJ 
(Eg.Ama.gr.) Ho$ gXñ` Wo ?

	 (A)	 Ho$. E_. nm{UH$a

	 (B)	 öX` ZmW Hw§$Oé

	 (C)	 \$µOb Abr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 54.	 {ZåZ{b{IV _| go H$m¡Z-gr AÝV:òmdr J«pÝW 
Zht h¡ ?

	 (A)	 Wm`am°BS>

	 (B)	 {nQ>çyQ>ar

	 (C)	 b¡{H«$_b

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 55.	 {ZåZ{b{IV _| go {df_ H$mo Mw{Z`o &

	 (A)	 _wå~B©

	 (B)	 ghmaZnwa

	 (C)	 H$mobH$mVm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 56.	 N, M H$m ^mB© h¡ & K, M H$s ~hZ h¡ & P, O 
H$m ^mB© h¡ VWm O, N H$s ~oQ>r h¡ & P H$m MmMm 
H$m¡Z h¡ ?

	 (A)	 M
	 (B)	 K
	 (C)	 N

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 57.	 {~pëH$g ~mZmo Ho$ g§~§Y _| gdm}ÀM Ý`m`mb`  

Ho$ \¡$gbo _| {ZåZ{b{IV _| go H$m¡Z-gm VÏ` 

d{U©V h¡ ?

	 1.	 {~pëH$g ~mZmo Zo 30 Zd§~a 2022  H$mo  

gdm}ÀM Ý`m`mb` _| g_`nyd© Xmo{f`m| Ho$ 

[ahmB© H$mo MwZm¡Vr Xr &

	 2.	 23 Aà¡b 2019 H$mo gdm}ÀM Ý`m`mb` 

Zo {~pëH$g ~mZmo H$mo JwOamV gaH$ma go  

50 bmI én`o H$m _wAmdOm {Xbm`m Wm &

	 3.	 8 OZdar 2024 H$mo gdm}ÀM Ý`m`mb` Zo 

11 Xmo{f`m| H$mo g_`nyd© [ahmB© H$aZo g§~§Yr 

AmXoe H$mo aÔ H$a {X`m &

	 4.	 Ý`m`_y{V© ~r.dr. ZmJaËZm Am¡a Ý`m`_y{V© 

CÁOb ^wB`m± Zo {ZU©` {X`m &

	 (A)	 Ho$db 2

	 (B)	 Ho$db 3

	 (C)	 Ho$db 1

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 58.	 18 \$adar 2024 H$mo lrh[aH$moQ>m go A§V[aj 

_| ^oOo JE BÝg¡Q>-3S>rEg (INSAT-3DS) H$m 

à`moJ {ZåZ{b{IV Ho$ {bE {H$`m OmEJm 

	 (A)	 Xÿag§Mma Ho$ {bE

	 (B)	 n‹S>mogr Xoem| Ho$ g¡Ý` J{V{d{Y`m| H$s OmZH$mar 

Ho$ {bE

	 (C)	 _m¡g_ {dkmZ Ho$ joÌ _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 59.	 The polling of by-elections in some 
constituencies was cancelled in 
2016, in which of the following States 
of India ?

	 (A)	 Telangana
	 (B)	 Kerala
	 (C)	 Tamil Nadu
	 (D)	 more than one of the above
	 (E)	 none of the above

	 60.	 The distance between the earth and 
the sun is greater during 

	 (A)	 Aphelion
	 (B)	 Perihelion
	 (C)	 Summer solstice
	 (D)	 More than one of the above
	 (E)	 None of the above

	 61.	 The major and top source of oxygen 
in the atmosphere is

	 (A)	 Photosynthesis by forest plants
	 (B)	 Photosynthesis by oceanic 

plants
	 (C)	 Photosynthesis by grassland 

ecosystem
	 (D)	 More than one of the above
	 (E)	 None of the above

	 62.	 The value of
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is 

	 (A)	 4

	 (B)	 3

	 (C)	 5

	 (D)	 More than one of the above

	 (E)	 None of the above

	 63.	 Who assassinated Sir Curzon-Wylie 
in London ?

	 (A)	 V.D. Savarkar
	 (B)	 Udham Singh
	 (C)	 Madan Lal Dhingra
	 (D)	 More than one of the above
	 (E)	 None of the above

	 64.	 The ‘Operation Barga’ gained 
sustainable support to which of the 
following State Government of India, 
in the country ?

	 (A)	 The State Government in West 
Bengal

	 (B)	 The State Government in Kerala
	 (C)	 The State Government in Assam
	 (D)	 More than one of the above
	 (E)	 None of the above

	 65.	 Which one of the following is a plant 
hormone ?

	 (A)	 Cytokinin

	 (B)	 Insulin

	 (C)	 Oestrogen

	 (D)	 More than one of the above

	 (E)	 None of the above

	 66.	 How many rectangles are there in 
the figure given below ?

	 (A)	 9

	 (B)	 12

	 (C)	 8

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 59.	 Hw$N> {Zdm©MZ joÌm| _| 2016 _| Cn-MwZmdm| hoVw 
_VXmZ {ZåZ _| go {H$g amÁ` _| {ZañV {H$`m 
J`m Wm ?

	 (A)	 Vob§JmZm 

	 (B)	 Ho$ab

	 (C)	 V{_bZmSw>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 60.	 n¥Ïdr Ed§ gy`© Ho$ ~rM A{YH$V_ Xÿar hmoVr h¡
	 (A)	 Angm¡a _|
	 (B)	 Cngm¡a _| 
	 (C)	 J«rî_ g§H«$m§{V _|
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 61.	 dm`w_ÊS>b _| Am°ŠgrOZ H$m ~¥hX Ed§ CÀM 
òmoV h¡ 

	 (A)	 O§Jb Ho$ nm¡Ym| Ho$ àH$me g§íbofU go

	 (B)	 g_wÐr nm¡Ym| Ho$ àH$me g§íbofU go

	 (C)	 Kmg Ho$ _¡XmZm| Ho$ nm[apñW{VH$ V§Ì Ho$ nm¡Ym| 
Ho$ àH$me g§íbofU go

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 62.	
18
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		  H$m _mZ h¡ 

	 (A)	 4

	 (B)	 3

	 (C)	 5

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 63.	 b§XZ _| ga H$µO©Z-dm`br H$s hË`m {H$gZo H$s 
Wr ?

	 (A)	 dr.S>r. gmdaH$a
	 (B)	 CY_ qgh
	 (C)	 _XZ bmb qYJ‹S>m
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 64.	 "Am°naoeZ ~Jm©' Zo ^maV H$s {ZåZ _| go {H$g 
amÁ` gaH$ma Ho$ {b ò Xoe _| g§YmaUr` g_W©Z 
àmßV {H$`m Wm ?

	 (A)	 npíM_r ~§Jmb _| amÁ` gaH$ma

	 (B)	 Ho$ab _| amÁ` gaH$ma

	 (C)	 Ag_ _| amÁ` gaH$ma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 65.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ dmZñn{VH$ 
hm_m}Z h¡ ?

	 (A)	 gmBQ>moH$mB{ZZ

	 (B)	 BÝgw{bZ

	 (C)	 EñQ´>moOZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 66.	 ZrMo Xr J`r AmH¥${V _| {H$VZo Am`V h¢ ?

	 (A)	 9

	 (B)	 12

	 (C)	 8

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 67.	 Atmosphere receives most of its 
energy from 

	 (A)	 Long wave terrestrial radiation

	 (B)	 Short wave terrestrial radiation 

	 (C)	 Sun

	 (D)	 More than one of the above

	 (E)	 None of the above

	 68.	 Which one among the following 
represents the meaningful sequence 
of the words given below ?

	 1.	 Interview

	 2.	 Appointment

	 3.	 Selection

	 4.	 Advertisement

	 5.	 Application

	 (A)	 4, 5, 1, 2, 3

	 (B)	 4, 5, 2, 1, 3

	 (C)	 4, 5, 1, 3, 2

	 (D)	 More than one of the above

	 (E)	 None of the above

	 69.	 Which of the following is known as 
the longest canal in India ?

	 (A)	 Setu samudram Shipping Canal

	 (B)	 Sharda Canal

	 (C)	 Indira Gandhi Canal

	 (D)	 More than one of the above

	 (E)	 None of the above

	 70.	 A clock is started at 12:00 noon. By 
10 minutes past 05:00, the hour 
hand has turned through

	 (A)	 145°

	 (B)	 155°

	 (C)	 135°

	 (D)	 More than one of the above

	 (E)	 None of the above

	 71.	 Mohan walked 20 meter towards 

north, then turned left and walked 

10 meter. Again he turned right 

and walked 20 meter. From here he 

turned again right and walked  

10 meter. How far is he now from his 

starting point ?

	 (A)	 30 meter

	 (B)	 40 meter

	 (C)	 20 meter

	 (D)	 More than one of the above

	 (E)	 None of the above

	 72.	 Which one of the following National 
Parks is not correctly matched ?

	 (A)	 Guindy	 –	 Tamil Nadu 

	 (B)	 Bhagwan 
		  Mahavir	 –	 Bihar

	 (C)	 Balpakram	 –	 Meghalaya

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 67.	 dm ẁ_ÊS>b AnZr A{YH$V_ D$Om© àmßV H$aVr h¡

	 (A)	 XrK© nm{W©d {d{H$aU Va§Jm| go

	 (B)	 bKw nm{W©d {d{H$aU Va§Jm| go

	 (C)	 gy`© go

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 68.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ ZrMo {X`o J`o 

eãXm| H$m EH$ AW©nyU© H«$_ àX{e©V H$aVm h¡ ?

	 1.	 gmjmËH$ma

	 2.	 {Z`wpŠV

	 3.	 M`Z

	 4.	 {dkmnZ

	 5.	 AmdoXZ

	 (A)	 4, 5, 1, 2, 3

	 (B)	 4, 5, 2, 1, 3

	 (C)	 4, 5, 1, 3, 2

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 69.	 {ZåZ{b{IV _| go H$m¡Z-gr ̂ maV H$s g~go bå~r 

Zha H$hbmVr h¡ ?

	 (A)	 goVw g_wÐ_² Ob`mÌm Zha

	 (B)	 emaXm Zha

	 (C)	 BpÝXam Jm±Yr Zha

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 70.	 EH$ K‹S>r Xmonha 12:00 ~Oo MbZm ewê$ H$aVr 

h¡ & 05:00 ~OH$a 10 {_ZQ> na KÊQ>o H$s gwB© 

Ky_ Om`oJr 

	 (A)	 145°

	 (B)	 155°

	 (C)	 135°

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 71.	 _mohZ CÎma H$s Va\$ 20 _rQ>a Mbm, V~ ~m`| 
_w‹S>m VWm 10 _rQ>a Mbm & {\$a dh nwZ: Xm`| 
_w‹S>m VWm 20 _rQ>a Mbm & `hm± go {\$a dh 
Xm`| _w‹S>m VWm 10 _rQ>a Mbm & A~ dh AnZo 
àmapå^H$ {~ÝXþ go {H$VZr Xÿa h¡ ?

	 (A)	 30 _rQ>a

	 (B)	 40 _rQ>a

	 (C)	 20 _rQ>a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 72.	 {ZåZ amîQ´>r` CÚmZm| _| go H$m¡Z-gm EH$ ghr 
gw_o{bV Zht h¡ ?

	 (A)	 JwB§S>r	 -	V{_bZmSw>

	 (B)	 ^JdmZ _hmdra	 -	{~hma

	 (C)	 ~bnH«$_	 -	_oKmb`

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 73.	 Which number will come at missing 

value (X) from the numbers given in 

options on a logical way in the figure 

given below ?	

4 3 9 12

6 5 15 50

2 3 75 X

	 (A)	 48

	 (B)	 32

	 (C)	 50

	 (D)	 More than one of the above

	 (E)	 None of the above

	 74.	 The reversal of partition of Bengal 
was carried out during the time of

	 (A)	 Lord Minto

	 (B)	 Lord Hardinge

	 (C)	 Lord Curzon

	 (D)	 More than one of the above

	 (E)	 None of the above

	 75.	 The sonar technique is used to 
determine

	 (A)	 To locate under water hills

	 (B)	 To locate ice-bergs

	 (C)	 The depth of the sea

	 (D)	 More than one of the above

	 (E)	 None of the above

	 76.	 In a food chain, insectivorous plants 

trophic level is

	 (A)	 Primary consumer

	 (B)	 Secondary consumer

	 (C)	 Producer

	 (D)	 More than one of the above

	 (E)	 None of the above

	 77.	 As ‘Accident’ is related  to ‘Precaution’, 

in the same way ‘Illness’ is related to 

which one of the following ?

	 (A)	 Doctor

	 (B)	 Cleanliness

	 (C)	 Pollution

	 (D)	 More than one of the above

	 (E)	 None of the above

	 78.	 A number is decreased by 5% and 

then increased by 10%. What is 

the percent increase or decrease of 

the number thus obtained from the 

original number ?

	 (A)	 4% increase

	 (B)	 4.5% decrease

	 (C)	 4.5% increase

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 73.	 ZrMo {X`o J`o {MÌ _| bwßV _mZ (X) Ho$ ñWmZ na 

{dH$ënm| _| Xr J`r g§»`mAm| _| H$m¡Z-gr g§»`m 

VH©$ Ho$ AmYma na Am`oJr ?

4 3 9 12

6 5 15 50

2 3 75 X

	 (A)	 48

	 (B)	 32

	 (C)	 50

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 74.	 ~§Jmb Ho$ {d^mOZ H$mo {H$gHo$ H$m`©H$mb _| 
dm{ng {b`m J`m ?

	 (A)	 bmS>© {_ÝQ>mo

	 (B)	 bmS>© hm{S>ªJ

	 (C)	 bmS>© H$µO©Z

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 75.	 gmoZma VH$ZrH$ H$m à`moJ hmoVm h¡

	 (A)	 nmZr Ho$ ZrMo nhm{S>`m| H$m nVm bJmZo _|

	 (B)	 {h_-e¡b H$m nVm bJmZo _|

	 (C)	 g_wÐ H$s JhamB© H$m nVm bJmZo _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 76.	 ImÚ ûm¥§Ibm _| H$sQ>^jr nm¡Yo Ho$ nm¡pîQ>H$ ñVa 

H$m Zm_ h¡

	 (A)	 àmW{_H$ Cn^moŠVm

	 (B)	 {ÛVr`H$ Cn^moŠVm

	 (C)	 CËnmXH$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 77.	 {Og àH$ma "XþK©Q>Zm' H$m gå~ÝY "gmdYmZr' go 

h¡, Cgr àH$ma {ZåZ{b{IV _| go {H$g EH$ go 

"~r_mar' gå~pÝYV h¡ ?

	 (A)	 S>mŠQ>a

	 (B)	 ñdÀN>Vm

	 (C)	 àXÿfU

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 78.	 EH$ g§»`m H$mo 5% KQ>m`m OmVm h¡ Am¡a {\$a 10% 

~‹T>m`m OmVm h¡ & Bg àH$ma _yb g§»`m go àmßV 

g§»`m {H$VZo à{VeV ~‹T>Vr `m KQ>Vr h¡ ?

	 (A)	 4% ~‹T>Vr h¡ 

	 (B)	 4.5% KQ>Vr h¡ 

	 (C)	 4.5% ~‹T>Vr h¡

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 79.	 The congress socialist party was 
formed in

	 (A)	 June 1934

	 (B)	 July 1934

	 (C)	 May 1934

	 (D)	 More than one of the above

	 (E)	 None of the above

	 80.	 In a class of 50 students serial 
number of Avirat is 25th. What will 
be his serial number from the last ?

	 (A)	 26th

	 (B)	 27th

	 (C)	 25th

	 (D)	 More than one of the above

	 (E)	 None of the above

	 81.	 Which of the following is the record of 
suspension of MPs in the new Parliament 
House of India ?

	 (A)	 16 MPs of DMK were suspended
	 (B)	 13 MPs of TMC were suspended
	 (C)	 41 MPs of Congress were 

suspended
	 (D)	 More than one of the above
	 (E)	 None of the above

	 82.	 Who was the ‘political guru’ of 
Mahatma Gandhi ?

	 (A)	 Dadabhai Naoroji

	 (B)	 Pherozeshah Mehta

	 (C)	 Gopal Krishna Gokhale

	 (D)	 More than one of the above

	 (E)	 None of the above

	 83.	 Mulching of the soil is associated 
with

	 (A)	 Reducing weed growth

	 (B)	 Improving fertility and health of 
soil

	 (C)	 Conservation of soil moisture

	 (D)	 More than one of the above

	 (E)	 None of the above

	 84.	 It is given that 4489 67= , what 

is the value of 44 89 0 4489. .+ +  

0 004489 0 00004489. .+  ?

	 (A)	 74.437

	 (B)	 744.37

	 (C)	 7.4437

	 (D)	 More than one of the above

	 (E)	 None of the above

	 85.	 The Voter Verified Paper Audit Trial 

(VVPAT) came into existence in which 

of the following years in the country ?

	 (A)	 2013

	 (B)	 2014

	 (C)	 2012

	 (D)	 more than one of the above

	 (E)	 none of the above
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	 79.	 H$m±J«og g_mOdmXr Xb H$s ñWmnZm hþB©

	 (A)	 OyZ 1934 _|

	 (B)	 OwbmB© 1934 _|

	 (C)	 _B© 1934 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 80.	 50 {dÚm{W©`m| H$s EH$ H$jm _| A{daV H$m 
H«$_m§H$ 25 dm± h¡ & AÝV go CgH$m H«$_m§H$ Š`m 
hmoJm ?

	 (A)	 26 dm±

	 (B)	 27 dm±

	 (C)	 25 dm±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 81.	 ^maV Ho$ ZE g§gX ^dZ _| gm§gXm| Ho$ {Zb§~Z H$m 
[aH$m°S>© {ZåZ{b{IV _| go H$m¡Z-gm h¡ ?

	 (A)	 S>r.E_.Ho$. Ho$ 16 gm§gX {Zb§{~V hþ`o

	 (B)	 Q>r.E_.gr. Ho$ 13 gm§gX {Zb§{~V hþ`o

	 (C)	 H$m±J«og Ho$ 41 gm§gX {Zb§{~V hþ`o

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 82.	 _hmË_m Jm±Yr Ho$ "amOZr{VH$ Jwé' H$m¡Z Wo ?

	 (A)	 XmXm^mB© Zm¡amoOr

	 (B)	 {\$amoOemh _ohVm

	 (C)	 Jmonmb H¥$îU JmoIbo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 83.	 _¥Xm H$m nb~ma H$aZm gå~pÝYV h¡

	 (A)	 IanVdma H$mo ~‹T>Zo go amoH$Zo go

	 (B)	 _¥Xm H$s Cd©aH$Vm Ed§ ñdmñÏ` H$s ~‹T>moÎmar go

	 (C)	 _¥Xm H$s Z_r H$mo ~ZmE aIZo go

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 84.	 {X`m J`m h¡ {H$ 4489 67= ,  

Vmo 44 89 0 4489. .+ +  

0 004489 0 00004489. .+   

H$m _mZ Š`m hmoJm ?

	 (A)	 74.437

	 (B)	 744.37

	 (C)	 7.4437

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 85.	 Xoe _| _VXmVm gË`m{nV H$mJµO boImnarjU  

{dMmaU (dr.dr.nr.E.Q>r.) {ZåZ _| go {H$g df© 

ApñVËd _| Am`m ?

	 (A)	 2013

	 (B)	 2014

	 (C)	 2012

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 86.	 Who among the following had been 
the first unopposed and unanimously 
elected President in India ?

	 (A)	 Neelam Sanjeeva Reddy

	 (B)	 Dr. Radha Krishnan

	 (C)	 Dr. Rajendra Prasad

	 (D)	 More than one of the above

	 (E)	 None of the above

	 87.	 The change in focal length of human 
eye is caused due to

	 (A)	 Pupil

	 (B)	 Cornea

	 (C)	 Ciliary muscles

	 (D)	 More than one of the above

	 (E)	 None of the above

	 88.	 Which one word among the following 
words can not be formed with the 
letters of the word ‘carpenter’ ?

	 (A)	 painter

	 (B)	 carpet

	 (C)	 repent

	 (D)	 More than one of the above

	 (E)	 None of the above

	 89.	 The banks of which river is planned 
to be developed as West Bengal 
Government Tea Park ?

	 (A)	 Hooghly

	 (B)	 Brahmaputra

	 (C)	 Ganga

	 (D)	 More than one of the above

	 (E)	 None of the above

	 90.	 Follow that rule to choose the set in 

options which has been followed in 

the set (6, 18, 54).

	 (A)	 (15, 45, 135)

	 (B)	 (20, 30, 40)

	 (C)	 (12, 24, 72)

	 (D)	 More than one of the above

	 (E)	 None of the above

	 91.	 At what rate of simple interest, a 

certain sum of money becomes its 

seven times in 24 years ?

	 (A)	 24% per annum

	 (B)	 25% per annum

	 (C)	 22% per annum

	 (D)	 More than one of the above

	 (E)	 None of the above

	 92.	 If day before yesterday it was 

Monday, then which will be the day 

on day after tomorrow ?

	 (A)	 Friday

	 (B)	 Saturday

	 (C)	 Wednesday

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 86.	 {ZåZ _| go H$m¡Z ^maVdf© Ho$ àW_ {Z{d©amoY Ed§ 
gd©gå_{V go {Zdm©{MV amîQ´>n{V hþ`o Wo ?

	 (A)	 Zrb_ g§Ord aoÈ>r

	 (B)	 S>m°. amYmH¥$îUZ

	 (C)	 S>m°. amOoÝÐ àgmX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 87.	 _mZd Am±I H$s \$moH$g Xÿar _| n[adV©Z 
{ZåZ{b{IV _| go {H$gHo$ H$maU hmoVm h¡ ?

	 (A)	 ß`y{nb

	 (B)	 H$m°{Z©`m

	 (C)	 {g{b`ar _gëg

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 88.	 {ZåZ{b{IV eãXm| _| go H$m¡Z-gm EH$ eãX 
‘carpenter’  eãX Ho$ Ajam| go Zht 
~Zm`m Om gH$Vm h¡ ?

	 (A)	 painter

	 (B)	 carpet

	 (C)	 repent

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 89.	 {H$g ZXr Ho$ {H$Zmao H$mo npíM_ ~§Jmb gaH$ma  
Q>r nmH©$ Ho$ ê$n _| {dH${gV H$aZo H$s `moOZm h¡ ?

	 (A)	 hþJbr

	 (B)	 ~«÷nwÌ

	 (C)	 J§Jm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 90.	 Cg {Z`_ H$m AZwgaU H$aHo$, {dH$ënm| _| go 

{XE g_wÀM`m| _| Cg {dH$ën H$mo Mw{Z`o Omo 

{Z`_ {X`o hþ`o g_wÀM` (6, 18, 54) _| {H$`m 

J`m h¡ &

	 (A)	 (15, 45, 135)

	 (B)	 (20, 30, 40)

	 (C)	 (12, 24, 72)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 91.	 gab ã`mO H$s {H$g Xa go H$moB© YZam{e 24 dfm] 

_| AnZr gmV JwZr hmo OmVr h¡ ?

	 (A)	 24% dm{f©H$

	 (B)	 25% dm{f©H$

	 (C)	 22% dm{f©H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 92.	 `{X ~rVo hþE H$b go nhbo H$m {XZ gmo_dma Wm, 

Vmo AmZo dmbo H$b H$m AJbm {XZ Š`m hmoJm ?

	 (A)	 ewH«$dma

	 (B)	 e{Zdma

	 (C)	 ~wYdma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 93.	 Which one of the following sequences 
of the Himalayan ranges from south 
to north is correct ?

	 (A)	 Ladakh – Zaskar –Pir Panjal – 
Karakoram

	 (B)	 Pir Panjal – Zaskar – Ladakh – 
Karakoram

	 (C)	 Karakoram – Ladakh – Zaskar – 
Pir Panjal

	 (D)	 More than one of the above

	 (E)	 None of the above

	 94.	 Tungsten is used in which of the 
following ?

	 (A)	 Metal extraction

	 (B)	 Electric bulb

	 (C)	 Insulator

	 (D)	 More than one of the above

	 (E)	 None of the above

	 95.	 1.	 Aditya L1 Lagrange Point – 1 
accessed 6 January 2024.

		  2.	 It have seven payload.

		  3.	 Aditya L1 has a magnetometer 
mounted on the deck of the 
vehicle.

		  4.	 Visible Emission Line Coronograph 
in Aditya L1 will send 1440 photos 
to Earth every day.

		  Which of the above is/are true ?

	 (A)	 Only 2

	 (B)	 Only 3

	 (C)	 Only 1

	 (D)	 More than one of the above

	 (E)	 None of the above

	 96.	 If 6 * 7 = 2, 3 * 5 = 5, 5 * 8 = 0, then 

what will be the value of 6 * 8 ?

	 (A)	 4

	 (B)	 8

	 (C)	 2

	 (D)	 More than one of the above

	 (E)	 None of the above

	 97.	 The number of daily visitors of a zoo 

on Sunday is 680 and on other days 

is 332. If the first day of a 30 days 

month is Sunday, what will be the 

average number of daily visitors of 

the zoo in that month ?

	 (A)	 390

	 (B)	 396

	 (C)	 385

	 (D)	 More than one of the above

	 (E)	 None of the above

	 98.	 Tamil Nadu Coast receives rainfall 

during winter season due to 

	 (A)	 Retreating of South-west 

Monsoon

	 (B)	 South-west Monsoon

	 (C)	 Western disturbance

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 93.	 {ZåZ _| go H$m¡Z-gm X{jU go CÎma H$s Amoa 
{h_mb`Z nd©V_mbmAm| H$m ghr H«$_ h¡ ?

	 (A)	 bÔmI - µOmñH$a - nra n§Omb - 
H$mamH$moa_

	 (B)	 nra n§Omb - µOmñH$a - bÔmI - 
H$mamH$moa_

	 (C)	 H$mamH$moa_ - bÔmI - µOmñH$a -  
nra n§Omb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 94.	 {ZåZ{b{IV _| go {H$g_| Q>§JñQ>Z H$m à`moJ 
{H$`m OmVm h¡ ?

	 (A)	 YmVw {ZîH$f©U

	 (B)	 {dÚwV ~ë~

	 (C)	 Hw$MmbH$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 95.	 1.	 Am{XË` Eb1 b¡J«|O ßdm°B§Q> – 1 na  
6 OZdar 2024 H$mo nhþ±M J`m &

		  2.	 Bg_| gmV nobmoS> bJo hþE h¢ &

		  3.	 Am{XË` Eb1 _| `mZ Ho$ S>oH$ na EH$  
_¡½ZoQ>mo_rQ>a bJm hþAm h¡ &

		  4.	 Am{XË` Eb1 _| {d{O~b E{_eZ bmBZ 
H$moamoZmoJ«m\$ à{V{XZ 1440 \$moQ>mo n¥Ïdr na 
^oOoJm &

		  Cn`w©ŠV _| go H$m¡Z-gm gË` h¡ ?

	 (A)	 Ho$db 2

	 (B)	 Ho$db 3

	 (C)	 Ho$db 1

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 96.	 `{X 6 * 7 = 2, 3 * 5 = 5, 5 * 8 = 0, V~ 
6 * 8 H$m _mZ Š`m hmoJm ?

	 (A)	 4

	 (B)	 8

	 (C)	 2

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 97.	 {H$gr {M{‹S>`mKa Ho$ X¡{ZH$ Xe©Zm{W©`m| H$s g§»`m  

a{ddma H$mo 680 VWm AÝ` {XZm| _|| 332 h¡ & 

`{X {H$gr 30 {Xdgr` _hrZo H$m nhbm {XZ 

a{ddma hmo, Vmo Cg _hrZo _| {M{‹S>`mKa Ho$ 

X¡{ZH$ Xe©Zm{W©`m| H$s Am¡gV g§»`m Š`m hmoJr ?

	 (A)	 390

	 (B)	 396

	 (C)	 385

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 98.	 erV F$Vw _| V{_bZmSw> Ho$ VQ>r` joÌm| _| dfm© 

hmoZo H$m H$maU h¡ 

	 (A)	 bm¡Q>Vo hþE X{jU-npíM_ _mZgyZ

	 (B)	 X{jU-npíM_ _mZgyZ

	 (C)	 npíM_r {djmo^

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 99.	 Which one number among the 

numbers given in options will come 

in the place of question mark (?) in 

the series given below ?

		  17, 27, 38, 50, 63, ?

	 (A)	 81

	 (B)	 83

	 (C)	 77

	 (D)	 More than one of the above

	 (E)	 None of the above

	100.	 The best method to prevent flood is

	 (A)	 Grazing

	 (B)	 Afforestation

	 (C)	 Deforestation

	 (D)	 More than one of the above

	 (E)	 None of the above

	101.	 How many of the total number of 

people have been the Chief Ministers 

in Bihar since 26th Jan. 1950 to the 

beginning of 2024 ?

	 (A)	 Only 23 people

	 (B)	 Only 25 people

	 (C)	 Only 21 people

	 (D)	 More than one of the above

	 (E)	 None of the above

	102.	 What is the length of diameter of a 

circular ground whose area is equal 

to the sum of the area of a circle of 

radius 8 m and a triangle of area  

36 πm2 ?

	 (A)	 15 m

	 (B)	 20 m

	 (C)	 10 m

	 (D)	 More than one of the above

	 (E)	 None of the above

	103.	 The animals found in desert are 

called

	 (A)	 Deserticolous

	 (B)	 Desertimalia

	 (C)	 Desertimals

	 (D)	 More than one of the above

	 (E)	 None of the above

	104.	 In Bihar, which of the following facts 

have been revealed by Bihar Caste 

Survey, 2023 ?

	 (A)	 Upper Caste 15.52%

	 (B)	 Scheduled Caste and Scheduled 

Tribe 21.33%

	 (C)	 Backward Caste 63.14%

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 99.	 ZrMo Xr J`r ûm¥§Ibm _| àíZdmMH$ {MÝh (?) 

Ho$ ñWmZ na {dH$ënm| _| Xr J`r g§»`mAm| _| 

H$m¡Z-gr EH$ g§»`m Am`oJr ?

		  17, 27, 38, 50, 63, ?

	 (A)	 81

	 (B)	 83

	 (C)	 77

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	100.	 ~m‹T> H$mo amoH$Zo Ho$ {bE g~go CÎm_ {d{Y h¡

	 (A)	 MamB©

	 (B)	 dZamonU

	 (C)	 dZmoÝ_ybZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	101.	 {ZåZ _| go Hw$b {H$VZo bmoJ 26 OZdar 1950 

go 2024 Ho$ àmaå^ VH$ {~hma Ho$ _w»`_§Ìr  

aho h¢ ?

	 (A)	 Ho$db 23 bmoJ

	 (B)	 Ho$db 25 bmoJ

	 (C)	 Ho$db 21 bmoJ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	102.	 Cg d¥ÎmmH$ma _¡XmZ Ho$ ì`mg H$s bå~mB© Š`m 

h¡ {OgH$m joÌ\$b 8 m {ÌÁ`m Ho$ EH$ d¥Îm Ho$ 

joÌ\$b Am¡a 36πm2 joÌ\$b dmbo {Ì^wO Ho$ 

joÌ\$bm| Ho$ `moJ Ho$ ~am~a h¡ ?

	 (A)	 15 m

	 (B)	 20 m

	 (C)	 10 m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	103.	 ao{JñVmZ _| nm`o OmZo dmbo OÝVw H$hbmVo h¢

	 (A)	 S>oOQ>uH$mobg

	 (B)	 S>oOQ>u_o{b`m

	 (C)	 S>oOQ>u_ëg

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	104.	 {~hma _| {~hma Om{V gd}jU, 2023 Ûmam  

{ZåZ{b{IV _| go H$m¡Z-gm VÏ` COmJa hþAm h¡ ?

	 (A)	 CÀM Om{V 15.52%

	 (B)	 AZwgy{MV Om{V/AZwgy{MV OZOm{V 

21.33%

	 (C)	 {nN>‹S>r Om{V 63.14%

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	105.	 The famous Indian National Army 

trials took place at the Red Fort, 

Delhi in

	 (A)	 1945

	 (B)	 1946

	 (C)	 1944

	 (D)	 More than one of the above

	 (E)	 None of the above

	106.	 On dividing a3 + b3 + c3 – 3abc by  

a + b + c, the quotient obtained is

	 (A)	 a2 + b2 + c2 – bc – ca + ab

	 (B)	 a2 + b2 + c2 + bc + ca + ab

	 (C)	 a2 + b2 + c2 – bc – ca – ab

	 (D)	 More than one of the above

	 (E)	 None of the above

	107.	 Five boys are sitting in a line having 

their faces at the North. P is at the 

right of Q. T is on the left of Q but on 

the right of R. If P is on the left of S, 

who is sitting at the middle of all of 

them ?

	 (A)	 R

	 (B)	 Q

	 (C)	 S

	 (D)	 More than one of the above

	 (E)	 None of the above

	108.	 Joint military exercise by India and 
Japan was conducted in Mahajan 
area of Rajasthan on 25 February 
2024. The name of the joint military 
exercise was

	 (A)	 Atal Guardian 2024

	 (B)	 Nagasaki Guardian 2024

	 (C)	 Dharma Guardian 2024

	 (D)	 More than one of the above

	 (E)	 None of the above

	109.	 Which of the following crops can not 
be cultivated in river ?

	 (A)	 Water chestnut

	 (B)	 Lotus

	 (C)	 Fox nut

	 (D)	 More than one of the above

	 (E)	 None of the above

	110.	 In an examination of Hindi, English 
and Mathematics subjects, the 
total marks are 120, 140 and 100 
respectively. A student gets 40%,  
55% and 45% marks in these subjects 
respectively. How many marks should 
he get in Science subject out of the total 
180 marks in it so that his combined 
percentage of marks obtained in all 
the four subjects becomes 60% ?

	 (A)	 156

	 (B)	 160

	 (C)	 154

	 (D)	 More than one of the above

	 (E)	 None of the above
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	105.	 {Xëbr Ho$ bmb {H$bo _| AmµOmX {hÝX \$m¡O H$m 

à{gÕ _wH$X_m hþAm

	 (A)	 1945 _|

	 (B)	 1946 _|

	 (C)	 1944 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	106.	 a3 + b3 + c3 – 3abc H$mo a + b + c go ^mJ 

XoZo na àmßV ^mJ\$b h¡

	 (A)	 a2 + b2 + c2 – bc – ca + ab

	 (B)	 a2 + b2 + c2 + bc + ca + ab

	 (C)	 a2 + b2 + c2 – bc – ca – ab

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	107.	 nm±M b‹S>Ho$ EH$ n§pŠV _| CÎma H$s Va\$ _w±h 

H$aHo$ ~¡R>o hþ`o h¢ & P, Q Ho$ Xm`| h¡ & T, Q Ho$ 

~m`| bo{H$Z R Ho$ Xm`| h¡ & `{X P, S Ho$ ~m`t 

Va\$ h¡, Vmo CZ g~ _| _Ü` _| H$m¡Z h¡ ?

	 (A)	 R

	 (B)	 Q

	 (C)	 S

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	108.	 ^maV Am¡a OmnmZ Ûmam g§`wŠV g¡Ý` Aä`mg  

25 \$adar 2024 H$mo amOñWmZ Ho$ _hmOZ joÌ _| 

Am`mo{OV {H$`m J`m & Cg g§`wŠV g¡Ý` Aä`mg 

H$m Zm_ Wm

	 (A)	 AQ>b Jm{S>©`Z 2024

	 (B)	 ZmJmgmH$s Jm{S>©`Z 2024

	 (C)	 Y_© Jm{S>©`Z 2024

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	109.	 {ZåZ _| go {H$g \$gb H$mo ZXr _| Zht CJm`m 
Om gH$Vm ?

	 (A)	 qgKm‹S>m

	 (B)	 H$_b

	 (C)	 _ImZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	110.	 {hÝXr, A§J«oOr Am¡a J{UV {df`m| H$s EH$ narjm 

_| nyUmªH$ H«$_e: 120, 140 Am¡a 100 h¢ & 

EH$ N>mÌ BZ {df`m| _| H«$_e: 40%, 55% 

Am¡a 45% A§H$ àmßV H$aVm h¡ & dh {dkmZ 

{df`, {OgHo$ nyUmªH$ 180 h¢, _| {H$VZo A§H$ 

àmßV H$a| {H$ g^r Mmam| {df`m| _| àmßVm§H$m| H$s 

g§`wŠV à{VeVVm 60% hmo OmE ?

	 (A)	 156

	 (B)	 160

	 (C)	 154

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	111.	 Padmashree Ushakiran Khan had the 
following achievements :

	 1.	 Sahitya Akademi Award 2010

	 2.	 Bharat Bharati 2019

	 3.	 Maithili – Kachahi Bans

	 4.	 Hindi-Anuttarit Prashna

	 (A)	 Only 2

	 (B)	 Only 1

	 (C)	 Only 3

	 (D)	 More than one of the above

	 (E)	 None of the above

	112.	 Who among the following was the 
Prime Minister of India, when 73rd and 
74th amendments of the constitution 
came into existence ?

	 (A)	 P. V. Narasimha Rao

	 (B)	 H. D. Deve Gowda

	 (C)	 Chandra Shekhar

	 (D)	 More than one of the above

	 (E)	 None of the above

	113.	 Chemically rust is

	 (A)	 Hydrated ferric oxide

	 (B)	 Hydrated ferrous oxide

	 (C)	 Only ferric oxide

	 (D)	 More than one of the above

	 (E)	 None of the above

	114.	 In English alphabet which letter is 
opposite to letter P ?

	 (A)	 K

	 (B)	 N

	 (C)	 L

	 (D)	 More than one of the above

	 (E)	 None of the above

	115.	 In which of the following states of 
India, the maximum teak forest is 
found ?

	 (A)	 Bihar

	 (B)	 Karnataka

	 (C)	 Madhya Pradesh

	 (D)	 More than one of the above

	 (E)	 None of the above

	116.	 The relationship between algae and 
fungi in Lichens is called as

	 (A)	 Commensalism

	 (B)	 Protocooperation

	 (C)	 Mutualism

	 (D)	 More than one of the above

	 (E)	 None of the above

	117.	 A rectangle has an area 30 cm2 and 
perimeter 26 cm. its length (in cm) is 

	 (A)	 8

	 (B)	 10

	 (C)	 6

	 (D)	 More than one of the above

	 (E)	 None of the above
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	111.	 nX²_lr Cfm{H$aU ImZ H$s {ZåZ{b{IV 

CnbpãY`m± Wr :

	 1.	 gm{hË` AH$mX_r nwañH$ma 2010

	 2.	 ^maV ^maVr 2019

	 3.	 _¡{Wbr-H$m§M{h ~m§g

	 4.	 {hÝXr-AZwÎm[aV àíZ

	 (A)	 Ho$db 2

	 (B)	 Ho$db 1

	 (C)	 Ho$db 3

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	112.	 {ZåZ _| go H$m¡Z ^maV Ho$ àYmZ_§Ìr Wo, O~  

73 dm± Ed§ 74 dm± g§{dYmZ g§emoYZ ApñVËd _| 

Am`o ?

	 (A)	 nr. dr. Zaqgh amd

	 (B)	 EM. S>r. XodoJm¡‹S>m

	 (C)	 MÝÐ eoIa

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	113.	 amgm`{ZH$ ^mfm _| _moaMm (O§J) Š`m h¡ ?

	 (A)	 hmBS´>oQ>oS> \o$[aH$ Am°ŠgmBS>

	 (B)	 hmBS´>oQ>oS> \o$ag Am°ŠgmBS>

	 (C)	 Ho$db \o$[aH$ Am°ŠgmBS>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	114.	 A§J«oOr dU©_mbm _| P H$m {dnarV Aja  
H$m¡Z-gm h¡ ?

	 (A)	 K

	 (B)	 N

	 (C)	 L

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	115.	 ^maV Ho$ {H$g amÁ` _| gdm©{YH$ gmJdmZ Ho$ 
O§Jb nm`o OmVo h¢ ?

	 (A)	 {~hma

	 (B)	 H$Zm©Q>H$

	 (C)	 _Ü`àXoe

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	116.	 bmBHo$Ýg _| e¡dmb Ed§ H$dH$ H$m [aíVm 
nm[apñW{VH$s _| H$hbmVm h¡ 

	 (A)	 gh^mo{OVm

	 (B)	 AmÚgh`moJ

	 (C)	 ghmonH$m[aVm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	117.	 EH$ Am`V H$m joÌ\$b 30 cm2 h¡ Am¡a  
n[a_mn 26cm h¡ & BgH$s bå~mB© (cm _|) h¡

	 (A)	 8

	 (B)	 10

	 (C)	 6

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	118.	 What are the characters that make a 
plant a hydrophyte ?

	 (A)	 Absence of mechanical tissue

	 (B)	 Presence of aerenchyma

	 (C)	 Presence of well developed vascular 
system

	 (D)	 More than one of the above

	 (E)	 None of the above

	119.	 Indira Gandhi National Center for 
the Arts has created a language atlas 
by conducting speech surveys all 
over India. It is an autonomous body 
under the Union Ministry of Culture. 
What is meant by the language atlas 
of India ?

	 (A)	 Ethnic map of India

	 (B)	 It is language mapping project of 
India

	 (C)	 Natural map of India

	 (D)	 More than one of the above

	 (E)	 None of the above

	120.	 The type of mirror used in vehicles to 
see the traffic on the rear side is

	 (A)	 Concave

	 (B)	 Plane

	 (C)	 Convex

	 (D)	 More than one of the above

	 (E)	 None of the above

	121.	 With reference to India and its 
relations with neighbours, which 
of the following statement/s is/are 
correct ?

	 (A)	 The foreign policy of India is based 
on peace and non-violence.

	 (B)	 Panchsheel principles are the 
result of India’s determination to 
peace.

	 (C)	 India is one of the founders of  
Non-alignment Movement.

	 (D)	 More than one of the above

	 (E)	 None of the above

	122.	 Kargil is located on the bank of 

	 (A)	 Suru river

	 (B)	 Jhelum river

	 (C)	 Indus river

	 (D)	 More than one of the above

	 (E)	 None of the above

	123.	 A completes a work in 15 days,  
B completes the same work in  
8 days while B and C jointly complete 
the same work in 4 days. If A and 
C jointly complete the same work 
in x days while A and B jointly 
complete it in y days, what is the  

value of x
y

 ?

	 (A)	 1

	 (B)	 1 1
2

	 (C)	 1
2

	 (D)	 More than one of the above

	 (E)	 None of the above
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	118.	 H$m¡Z-go bjU {H$gr nmXn H$mo ObmoX²{^X  

~ZmVo h¢ ?

	 (A)	 `m§{ÌH$ D$VH$ H$m A^md

	 (B)	 dm`yVH$ H$s CnpñW{V

	 (C)	 gw{dH${gV g§dhZ V§Ì H$s CnpñW{V

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	119.	 B§{Xam Jm±Yr amîQ́>r` H$bm H|$Ð Zo g§nyU© ^maV _| ^mfm 

gd}jU H$a ^mfm EQ>bg ~Zm`m h¡ & `h H|$Ðr` 

g§ñH¥${V _§Ìmb` Ho$ A§VJ©V ñdm`Îm {ZH$m` h¢ & ̂ maV 

Ho$ ^mfm EQ>bg go Š`m A{^àm` h¡ ?

	 (A)	 ^maV H$m Zñbr` _mZ{MÌ

	 (B)	 `h ^maV H$m EH$ b¢½doO _¡qnJ àmoOoŠQ> h¡

	 (C)	 ^maV H$m àmH¥${VH$ _mZ{MÌ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	120.	 dmhZm| Ho$ gmBS>m| _| Q´>o{\$H$ XoIZo Ho$ {bE {H$g 

àH$ma Ho$ Xn©U H$m à`moJ hmoVm h¡ ?

	 (A)	 AdVb

	 (B)	 g_Vb

	 (C)	 CÎmb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	121.	 ^maVdf© VWm CgHo$ n‹S>mo{g`m| go g§~§Y Ho$ gÝX^© 
_| {ZåZ _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ?

	 (A)	 ^maV H$s {dXoe Zr{V empÝV Ed§ Aqhgm na 
AmYm[aV h¡ &

	 (B)	 n§Merb {gÕmÝV empÝV hoVw ^maV Ho$ Ñ‹T> 
{ZíM` H$m n[aUm_ h¡ &

	 (C)	 ^maV JwQ>{Zanoj AmÝXmobZ Ho$ g§ñWmnH$m| _| 
go EH$ h¡ &

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	122.	 H$ma{Jb {H$g ZXr Ho$ {H$Zmao na pñWV h¡ ?

	 (A)	 gwé ZXr

	 (B)	 Pob_ ZXr

	 (C)	 qgYw ZXr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	123.	 A {H$gr H$m_ H$mo 15 {XZ _| nyam H$aVm h¡,  
B Cgr H$m_ H$mo 8 {XZ _| nyam H$aVm h¡ O~{H$ 
B Am¡a C {_bH$a Cg H$m_ H$mo 4 {XZ _| nyam 
H$aVo h¢ & `{X A Am¡a C {_bH$a Cg H$m_ H$mo 
x {XZ _| nyam H$aVo h¢ O~{H$ A Am¡a B {_bH$a 

Cgo y {XZ _| nyam H$aVo h¢, Vmo x
y
 H$m _mZ  

Š`m h¡ ?

	 (A)	 1

	 (B)	 1 1
2

	 (C)	 1
2

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	124.	 The Prime Minister Lal Bahadur 

Shastri faced which of the following 

issues challenging the basic values 

and goals of Indian Nation ?

	 (A)	 The shortage of food for social and 
economic transformation

	 (B)	 The war with Pakistan in 1965

	 (C)	 The Anti Hindi Agitation in South

	 (D)	 More than one of the above

	 (E)	 None of the above

	125.	 Which country’s Space Agencies 
have allowed Private companies to 
conduct tours of the International 
Space Station  ?

	 (A)	 Bhutan, Nepal, Singapur

	 (B)	 Guyana, Burundi, Paraguay

	 (C)	 Turkey, Sweden, Italy

	 (D)	 More than one of the above

	 (E)	 None of the above

	126.	 SPMs are used for tracking air 
quality and for regulating air 
pollution. Here SPM stands for

	 (A)	 Solidified Particulate Matter

	 (B)	 Suspended Particulate Matter

	 (C)	 Soluble Particulate Matter

	 (D)	 More than one of the above

	 (E)	 None of the above

	127.	 Which of the following constitute a 
food chain ?

	 (A)	 Grass, deer and tiger

	 (B)	 Grass, fish and cow

	 (C)	 Grass, rabbit and elephant

	 (D)	 More than one of the above

	 (E)	 None of the above

	128.	 Which was the main centre of 
activities of Wahabis in Bihar ?

	 (A)	 Jagdishpur

	 (B)	 Champaran

	 (C)	 Patna

	 (D)	 More than one of the above

	 (E)	 None of the above

	129.	 The iron pillar wonder of ancient 
Indian metallurgy is situated in

	 (A)	 Pune 

	 (B)	 Delhi

	 (C)	 Lucknow

	 (D)	 More than one of the above

	 (E)	 None of the above

	130.	 The thorough economic liberalisation 
in India initiated from which of the 
following years ?

	 (A)	 After 1991

	 (B)	 After 2001

	 (C)	 After 1981

	 (D)	 more than one of the above

	 (E)	 none of the above
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	124.	 àYmZ_§Ìr bmb ~hmXþa emñÌr Zo ^maVr` amîQ´> Ho$ 

AmYma^yV _yë`m| Ed§ CÔoí`m| H$mo MwZm¡Vr XoZo dmbo 

{ZåZ _| go {H$Z _wÔm| H$m gm_Zm {H$`m Wm ?

	 (A)	 gm_m{OH$ Ed§ Am{W©H$ ê$nmÝVa hoVw AÝZ 

H$s H$_r

	 (B)	 1965 _| nm{H$ñVmZ Ho$ gmW `wÕ

	 (C)	 X{jU _| qhXr {damoYr Ambmo‹S>Z

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	125.	 {H$Z Xoem| H$s A§V[aj EO|{g`m| Zo {ZOr H§$n{Z`m| 

H$mo A§Vam©îQ´>r` A§V[aj ñQ>oeZ H$m Xm¡am Am`mo{OV 

H$aZo H$s AZw_{V Xr h¡ ?

	 (A)	 ^yQ>mZ, Zonmb, qgJmnwa

	 (B)	 Jw`mZm, ~wê$ÝS>r, nam½do

	 (C)	 VwH$s©, ñdrS>Z, BQ>br

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	126.	 hdm H$s JwUdÎmm Ed§ dm`w àXyfU {Z`§ÌU _| 
SPM à`moJ hmoVm h¡ & SPM go VmËn`© h¡ 

	 (A)	 Ñ‹T>rH¥$V H${UH$m VËd

	 (B)	 {Zbpå~V H${UH$m VËd

	 (C)	 KwbZerb H${UH$m VËd

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	127.	 {ZåZ{b{IV _| go H$m¡Z-gr EH$ ImÚ ûm¥§Ibm h¡ ?

	 (A)	 Kmg, h[aU Am¡a ~mK

	 (B)	 Kmg, _N>br Am¡a Jm`

	 (C)	 Kmg, IaJmoe Am¡a hmWr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	128.	 {~hma _| dhm{~`m| H$s J{V{d{Y`m| H$m _w»` 
Ho$ÝÐ H$m¡Z-gm Wm ?

	 (A)	 OJXrenwa

	 (B)	 MånmaU

	 (C)	 nQ>Zm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	129.	 àmMrZ ^maVr` YmVwH$_© H$m AmíM`© bm¡h ñVå^ 

pñWV h¡ 

	 (A)	 nyUo _|

	 (B)	 {Xëbr _|

	 (C)	 bIZD$ _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	130.	 ^maVdf© _| gånyU© Am{W©H$ CXmarH$aU {ZåZ _| 

go {H$g df© àmaå^ hþAm Wm ?

	 (A)	 1991 Ho$ níMmV

	 (B)	 2001 Ho$ níMmV

	 (C)	 1981 Ho$ níMmV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	131.	 Brahmo Samaj’s influence was 
confined mostly to the 

	 (A)	 Rural Bengal

	 (B)	 Both rural and urban educated 
groups

	 (C)	 Urban educated groups

	 (D)	 More than one of the above

	 (E)	 None of the above

	132.	 In a coded language ‘problem’ is 
written as ‘mperlob’. In the same 
coded language how will you write 
‘numbers’ ?

	 (A)	 snruebm

	 (B)	 srunemb

	 (C)	 snruemb

	 (D)	 More than one of the above

	 (E)	 None of the above

	133.	 Which of the following is the important 
reason for ethnic violence in Manipur 
from 3 May 2023 ?

	 (A)	 Meitei community should be given 
share in jobs reserved for Kuki 
community

	 (B)	 Lack of resources to Meitei 
community

	 (C)	 Meitei community should be given 
the status of tribe

	 (D)	 More than one of the above

	 (E)	 None of the above

	134.	 The political tendency to build our 

nation mainly on nationalism is led 

by which of the following political 

party in India ?

	 (A)	 Indian National Congress

	 (B)	 Bharatiya Janata Party

	 (C)	 Socialist party

	 (D)	 more than one of the above

	 (E)	 none of the above

	135.	 The lengths of the diagonals of  
a rhombus are 2a and 2b. Its  
perimeter is

	 (A)	 2 2 2a b+

	 (B)	 4ab

	 (C)	 4 2 2a b+

	 (D)	 More than one of the above

	 (E)	 None of the above

	136.	 Which bridge was inaugurated by 

Prime Minister Narendra Modi on  

24 February 2024 to connect Dwarka 

in the Gulf of Kutch region ?

	 (A)	 Kutch Bridge

	 (B)	 Sudarshan Bridge

	 (C)	 Dwarka Bridge

	 (D)	 More than one of the above

	 (E)	 None of the above
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	131.	 ~«÷ g_mO H$m à^md _w»`V: gr{_V Wm

	 (A)	 J«m_rU ~§Jmb

	 (B)	 XmoZm| J«m_rU Am¡a ehar {e{jV dJ©

	 (C)	 ehar {e{jV dJ©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	132.	 EH$ Hy$Q> ^mfm _| ‘problem’ H$mo 

‘mperlob’ {bIm OmVm h¡ & Cgr Hy$Q> ^mfm 

_| Amn ‘numbers’  H$mo H¡$go {bI|Jo ?

	 (A)	 snruebm

	 (B)	 srunemb

	 (C)	 snruemb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	133.	 {ZåZ{b{IV _| go H$m¡Z-gm 3 _B© 2023 go  

_{Unwa _| Om{V qhgm H$m _hËdnyU© H$maU Wm ?

	 (A)	 Hy$H$s g_wXm` Ho$ {bE Ama{jV Zm¡H$[a`m| _| 

_¡VoB© g_wXm` H$mo {hñgm {X`m OmZm

	 (B)	 _¡VoB© g_wXm` Ho$ nmg g§gmYZm| H$s H$_r

	 (C)	 _¡VoB© g_wXm` H$mo OZOm{V H$m XOm© {X`m 

OmZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	134.	 h_mao amîQ´> H$mo _w»`V: amîQ´>dmX Ho$ AmYma na 

{Z{_©V H$aZo H$s amOZr{VH$ àd¥{Îm H$m ZoV¥Ëd 

^maV _| {ZåZ _| go {H$g amOZr{VH$ Xb Ûmam 

{H$`m OmVm h¡ ?

	 (A)	 ^maVr` amîQ´>r` H$m±J«og

	 (B)	 ^maVr` OZVm nmQ>u

	 (C)	 g_mOdmXr Xb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	135.	 EH$ g_MVw^w©O Ho$ {dH$Um] H$s bå~mB`m± 2a 

Am¡a 2b h¢ & BgH$m n[a_mn h¡

	 (A)	 2 2 2a b+

	 (B)	 4ab

	 (C)	 4 2 2a b+

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	136.	 24 \$adar 2024 H$mo àYmZ_§Ìr Za|Ð _moXr Ûmam 

H$ÀN> H$s Im‹S>r joÌ _| ÛmaH$m H$mo Omo‹S>Zo Ho$ {bE 

{H$g goVw H$m CX²KmQ>Z {H$`m J`m ?

	 (A)	 H$ÀN> goVw

	 (B)	 gwXe©Z goVw

	 (C)	 ÛmaH$m goVw

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	137.	 In a food chain, which trophic level 
has highest energy level ?

	 (A)	 Consumers of first trophic level

	 (B)	 Consumers of top trophic level

	 (C)	 Producers

	 (D)	 More than one of the above

	 (E)	 None of the above

	138.	 Which of the following will turn blue 
litmus red ?

	 (A)	 Washing soda solution

	 (B)	 Vinegar

	 (C)	 Baking soda solution

	 (D)	 More than one of the above

	 (E)	 None of the above

	139.	 The country India shares longest 
international boundary with

	 (A)	 Pakistan

	 (B)	 Nepal

	 (C)	 Bangladesh

	 (D)	 More than one of the above

	 (E)	 None of the above

	140.	 Which of the following is the oldest 
river valley project in Bihar ?

	 (A)	 Damodar River Valley Project

	 (B)	 Sone River Valley Project

	 (C)	 Kosi River Valley Project

	 (D)	 More than one of the above

	 (E)	 None of the above

	141.	 The values of x and y satisfying the 
equations 2x + 3y = 77 and 3x + 2y = 73

		  are respectively

	 (A)	 12 and 18

	 (B)	 11 and 19

	 (C)	 13 and 17

	 (D)	 More than one of the above

	 (E)	 None of the above

	142.	 Which of the following Constitutional 
Amendment in India made judiciary 
subservient of Parliament ?

	 (A)	 42nd Constitutional Amendment

	 (B)	 43rd Constitutional Amendment

	 (C)	 40th Constitutional Amendment

	 (D)	 More than one of the above

	 (E)	 None of the above

	143.	 Which area does China claim as its 
“Sacred territory’’ ?

	 (A)	 Tibet

	 (B)	 Taiwan

	 (C)	 Macau

	 (D)	 More than one of the above

	 (E)	 None of the above

	144.	 The grassland with scattered trees is 
called as

	 (A)	 Savanna

	 (B)	 Agroforest

	 (C)	 Rain forest

	 (D)	 More than one of the above

	 (E)	 None of the above
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	137.	 EH$ ImÚ ûm¥§Ibm _| H$m¡Z-go nmofH$ ñVa H$m 
D$Om© ñVa g~go A{YH$ h¡ ?

	 (A)	 nmofH$ ñVa Ho$ àW_ Cn^moŠVm

	 (B)	 CÀMV_ nmofH$ ñVa Ho$ Cn^moŠVm

	 (C)	 CËnmXH$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	138.	 {ZåZ{b{IV _| go H$m¡Z Zrbo {bQ>_g H$mo bmb 
_| ~Xb XoJm ?

	 (A)	 dmqeJ gmoS>m H$m Kmob

	 (B)	 {gaH$m

	 (C)	 ~oqH$J gmoS>m H$m Kmob

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	139.	 ^maV Xoe H$s A{YH$V_ AÝVam©îQ´>r` gr_m h¡ 

	 (A)	 nm{H$ñVmZ Ho$ gmW

	 (B)	 Zonmb Ho$ gmW

	 (C)	 ~m§JbmXoe Ho$ gmW

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	140.	 {ZåZ _| go {~hma _| g~go nwamZr ZXr KmQ>r 
n[a`moOZm H$m¡Z-gr h¡ ?

	 (A)	 Xm_moXa ZXr KmQ>r n[a`moOZm

	 (B)	 gmoZ ZXr KmQ>r n[a`moOZm

	 (C)	 H$mogr ZXr KmQ>r n[a`moOZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	141.	 g_rH$aUm| 2x + 3y = 77 Am¡a 3x + 2y = 73 
H$mo gÝVwîQ> H$aZo dmbo x Am¡a y Ho$ _mZ H«$_e: h¢

	 (A)	 12 Am¡a 18

	 (B)	 11 Am¡a 19

	 (C)	 13 Am¡a 17

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	142.	 {ZåZ _| go {H$g g§{dYmZ g§emoYZ Zo ^maV 
Ý`m`nm{bH$m H$mo g§gX Ho$ AYrZ ~Zm {X`m h¡ ?

	 (A)	 42 d| g§{dYmZ g§emoYZ Zo

	 (B)	 43 d| g§{dYmZ g§emoYZ Zo

	 (C)	 40 d| g§{dYmZ g§emoYZ Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	143.	 {H$g joÌ H$mo MrZ AnZm ""n{dÌ joÌ'' hmoZo H$m 
Xmdm H$aVm h¡ ?

	 (A)	 {Vã~V

	 (B)	 VmBdmZ

	 (C)	 _H$mD$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	144.	 {N>Vao hþE d¥jm| dmbo Kmg Ho$ _¡XmZ H$hbmVo h¢

	 (A)	 gdmZm

	 (B)	 H¥${fdZ

	 (C)	 dfm© dZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	145.	 Who founded the Indian National 

Congress in 1885 ?

	 (A)	 Surendranath Banerjee

	 (B)	 Gopal Krishna Gokhale

	 (C)	 Dadabhai Naoroji

	 (D)	 More than one of the above

	 (E)	 None of the above

	146.	 The value of

		
2 467 359 2 467 359

467 359

2

2 2

( )

( ) ( )

+ − × ×{ }
+

 is

	 (A)	 2

	 (B)	 3

	 (C)	 1

	 (D)	 More than one of the above

	 (E)	 None of the above

	147.	 The preamble of the Constitution of 

India guarantees justice. It means 

India allows its people

	 (A)	 To elect their representatives

	 (B)	 To have certain basic rights

	 (C)	 To participate in the decision 

making

	 (D)	 More than one of the above

	 (E)	 None of the above

	148.	 Which one of the north-eastern states 

of India has the highest concentration 

of tribal population ?

	 (A)	 Nagaland

	 (B)	 Mizoram

	 (C)	 Meghalaya

	 (D)	 More than one of the above

	 (E)	 None of the above

	149.	 Which of the ecological pyramids 

show both upright and inverted 

types ?

	 (A)	 Pyramid of number

	 (B)	 Pyramid of biomass

	 (C)	 Pyramid of energy

	 (D)	 More than one of the above

	 (E)	 None of the above

	150.	 How many kilometers is the total 

length of Atal Setu connecting Mumbai 

and New Mumbai ?

	 (A)	 21.5 kilometers

	 (B)	 21.8 kilometers

	 (C)	 21.3 kilometers

	 (D)	 More than one of the above

	 (E)	 None of the above
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	145.	 1885 _| ^maVr` amîQ´>r` H$m±J«og H$s ñWmnZm 
{H$gZo H$s Wr ?

	 (A)	 gwaoÝÐZmW ~¡ZOu

	 (B)	 Jmonmb H¥$îU JmoIbo

	 (C)	 XmXm^mB© Zm¡amoOr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$ 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	146.	 2 467 359 2 467 359

467 359

2

2 2

( )

( ) ( )

+ − × ×{ }
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 H$m 

_mZ h¡ 

	 (A)	 2

	 (B)	 3

	 (C)	 1

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	147.	 ^maV Ho$ g§{dYmZ H$s àñVmdZm Ý`m` H$s Jma§Q>r 

XoVr h¡ & BgH$m VmËn`© h¡ {H$ ^maV AnZo  

OZ_mZg H$mo AZw_{V XoVm h¡ 

	 (A)	 AnZo à{V{Z{Y`m| Ho$ {Zdm©MZ H$s

	 (B)	 Hw$N> _yb A{YH$ma aIZo H$s

	 (C)	 {ZU©` {Z_m©U _| ^mJrXmar H$s

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	148.	 ^maV Ho$ {H$g CÎma-nydu amÁ` _| OZOmVr` 

OZg§»`m H$s A{YH$V_ gHo$ÝÐU h¡ ?

	 (A)	 ZmJmb¡ÊS>

	 (B)	 {_µOmoa_

	 (C)	 _oKmb`

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	149.	 CëQ>o Ed§ grYo XmoZm| àH$ma Ho$ nm[apñW{VH$ 

{nam{_S {H$g_| nm`o OmVo h¢ ?

	 (A)	 g§»`m H$m {nam{_S>

	 (B)	 Ord^ma H$m {nam{_S>

	 (C)	 D$Om© H$m {nam{_S>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	150.	 _w§~B© Am¡a ZB© _w§~B© H$mo Omo‹S>Zo dmbo AQ>b goVw H$s 

Hw$b b§~mB© {H$VZo {H$bmo_rQ>a h¡ ?

	 (A)	 21.5 {H$bmo_rQ>a

	 (B)	 21.8 {H$bmo_rQ>a

	 (C) 	 21.3 {H$bmo_rQ>a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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10/PV–AC/M–2024
   Cå_rXdma H$m AZwH«$_m§H$

    

àíZ-nwpñVH$m

^mfm Ed§ gm_mÝ` AÜ``Z

g_` : 2:30 KÊQ>o	 nyUmªH$ : 150

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü`mZ go n‹T> b| &

_hÎdnyU© AZwXoe
	 1.	 `h àíZ-nwpñVH$m Xmo ^mJm| _| {d^m{OV h¡, ^mJ–I Ed§ ^mJ–II & ^mJ–I _| ^mfm (Ah©Vm) Ho$ àíZ VWm ^mJ–II _| gm_mÝ` AÜ``Z Ho$ àíZ 

h¢ ^mJ–I _| A§J«oOr ^mfm Ho$ àíZ h¢, Omo g^r narjm{W©`m| Ho$ {bE g_mZ h¢ VWm VrZm| ^mfmAm|- {hÝXr ^mfm, CXÿ© ^mfm VWm ~m§½bm ^mfm 
Ho$ àíZ h¢ & VrZm| ^mfmAm| _| go {H$gr EH$ ^mfm Ho$ àíZ H$mo MwZ| &

	 2.	 ^mJ – I _| àíZ g§»`m 1 go 30 VH$ àíZ h¢ & ^mJ-I _| A§J«oOr ^mfm _| àíZ g§»`m E-1 go E-8 VH$ (g^r Ho$ {bE g_mZ), {hÝXr 
^mfm _| àíZ g§»`m H-9 go H-30 VH$, CXÿ© ^mfm _| àíZ g§»`m U-9 go U-30 VH$, ~m§½bm ^mfm _| àíZ g§»`m B-9 go B-30 VH$ h¢ &  
^mJ-II _| àíZ g§»`m 31 go 150 VH$ gm_mÝ` AÜ``Z Ho$ àíZ h¢ (àíZ Am¡a CZHo$ CÎma A§J«oOr Ed§ {hÝXr _| _w{ÐV h¢) &

	 3.	 g^r àíZm| Ho$ A§H$ g_mZ h¢ &
	 4.	 àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X`m J`m h¡ & AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ 

{bIo Ed§ Hy$Q>~Õ H$a| VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om±Mm Zht Om`oJm &
	 5.	 narjm Amaå^ hmoVo hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na Xm`t Amoa _w{ÐV 

ûm¥§Ibm Ed§ CÎma nwpñVH$m na _w{ÐV ûm¥§Ibm g_mZ h¡ & H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a\$ H$m`© hoVw Xmo n¥îR>m| (n¥îR> g§. 54 Am¡a 55) g{hV 
nyao 56 _w{ÐV n¥îR> h¢ Am¡a H$moB© àíZ `m n¥îR> {~Zm N>nm hþAm `m \$Q>m hþAm `m Xmo~mam Am`m hþAm `m àíZ nwpñVH$m Ed§ CÎma nwpñVH$m _| _w{ÐV 
ûm¥§Ibm _| AÝVa Vmo Zht h¡ & nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m _| {H$gr àH$ma H$s Ìw{Q> nmZo na VËH$mb BgHo$ ~Xbo Bgr ûm¥§Ibm H$s Xÿgar ghr 
nwpñVH$m Ed§ Amo.E_.Ama. n{ÌH$m bo b| &

	 6.	 Bg n¥îR> Ho$ D$na {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ Adí` {bI| & àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI| &
	 7.	 Bg àíZ-nwpñVH$m _| g^r àíZ Am¡a CZHo$ CÎma A§J«oOr Ed§ {hÝXr _| _w{ÐV h¢ & àË`oH$ àíZ Ho$ nm±M CÎma — (A), (B), (C), (D) Am¡a (E) 

H«$_ na {X`o J`o h¢ & CZ_| go Amn g~go ghr Ho$db EH$ CÎma H$mo MwZ| Am¡a AnZo CÎma nÌH$ na A§{H$V H$a| & AmnH$m Hw$b àmßVm§H$ AmnHo$ 
Ûmam CÎma nÌH$ _| A§{H$V ghr CÎmam| na {Z^©a hmoJm &

	 8.	 CÎma nÌH$ _| àË`oH$ àíZ g§»`m Ho$ gm_Zo nm±M d¥Îm Bg àH$ma ~Zo hþE h¢ — A , B , C , D  Am¡a E  & àíZm| Ho$ CÎma XoZo Ho$ {bE 
AmnH$mo AnZr ngÝX Ho$ Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡ & àË`oH$ àíZ Ho$ {bE Ho$db EH$ 
CÎma H$mo MwZ| Am¡a Cgo AnZo CÎma nÌH$ _| {M{•V H$a| & Amn CÎma nÌH$ _| `{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm _| {ZemZ bJmVo h¢, 
Vmo AmnH$m CÎma JbV _mZm Om`oJm & CÎma nÌH$ _| CÎma H$mo {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ H$m hr à`moJ 
H$a| & {H$gr ^r àH$ma H$m H$mQ>-Hy$Q> AWdm n[adV©Z _mÝ` Zht h¡ &

	 9.	 `{X {H$gr àíZ _| {H$gr àH$ma H$s H$moB© _wÐU `m VÏ`mË_H$ àH$ma H$s Ìw{Q> hmo, Vmo àíZm| Ho$ A§J«oOr VWm {hÝXr ê$nmÝVam| _| go A§J«oOr ê$nmÝVa 
H$mo _mZH$ _mZm Om`oJm &

	 10.	 àíZ-nwpñVH$m go H$moB© nÞm \$m‹S>Zm `m AbJ H$aZm _Zm h¡ & àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go ~mha 
H$Xm{n Z bo Om`| & narjm Ho$ g_mnZ na CÎma nÌH$ drjH$ H$mo Adí` gm¢n X| & CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo OmZo 
H$s AZw_{V h¡ &

	 11.	 D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo 
XÊS> {X`m Om gH$Vm h¡ & 

	 12.	 Aä`Wu CÎma nÌH$ H$mo AnZr CnpñW{V _| Self Adhesive LDPE Bag _| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjm H$j H$mo 
N>mo‹S>| &

 Note : English version of the instructions is printed on the First Page of this Booklet.
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